wnze| 02 9— 81860 ss] |

ED—2768/10 ED—2768/2

M6 X 20 Cap Head Screw (10)

M5 x 30 Cap
Head Screw (4)

M6 x 12 Grub
Screw (4)

Angle 3X3” (1) Flat Plate Slotted (1)

NEWALL

ED—2768/4
Flat Plate (1)

DO NOT SCALE | ~€@D - = THRD ANGLE PROJECTION

- IN DOUBT ASK

Kit Contents

Universal Bracket Kit 1 - Metric

Part No: UBKO1-M

This kit mounts two Spherosyn/SHG/DSG Reader Heads.

ED—2768/3
Flat Bar (1)

1| [ TR,

Cable Tie (10)

M5 x 20 Cap Head

M6 Washer (10)

M5 Washer (4)

294—-983500
Angle 2x2” (1)

Screw (4)

note: some modification of brackets
may be necessary during installation.

TITLE. MATERIAL /FINISH. SCALE UNLESS OTHERWISE TOLERANCES: — 0 DECIMAL PLACES 0.5
KIT CONTENTS UBKOT-M| @ oo N/A | sTATED- | oA e 202
DIMENSIONS ARE IN M.M. ANGULAR +1°
1| B/ | 9461 | MSC CIMGES FIR NGH T0 MERC om DRAWN CWHITMORE | 08—01-14 NEWALL (oL IRMIG 8 E PROPRI O SHEET |DRAWING O 2 3_ 81 8 6 O REV. ,‘
REVISS.|DATE|C.N.No] ALTERATION APPROVED Leicester England| RO R A R T R USD 14 oF 3 | NUMBER ISS.




DRAWING
NUMBER

0235-081860

ss| |

NEWALL

DO NOT SCALE

@ - 3 THRD ANGLE PROJECTION

- IN DOUBT ASK

Kit Contents

Part No: UBKO1-M

Universal Bracket Kit 1 - Metric

294—98300 ED—2768/2
Angle 2x2” (1) Flat Plate Slotted (1)
63.5(2.5") 51(2")
- '—’| n Q ¢ 4 OFF M6 HOLES
_ 43 /
0 fres . e 32
5 T o /0 0-—Q— 20 105 /
3 . /
4L | 5 o @
34.0 °
DRILL AND TAP M6 (2 off) 3 n
& D 3] @
| I | N _r i‘
N
| ¥ 15~
3
15
ED—2768/4 ED—2768/3 294—-98300
FlOt Plote (1) FlOt BOI’ (']) Angle 2X2” ('])
3 HOLES DRILL @ 7.0 3" 8, 34.0
|
| A —— Py _
4 OFF M6 HOLES ! ' ~ ©
T340 | 340 / | ‘ . . L] | fro M
! 57 ) é_—w( 9.5(3/8") 34.0 74 7[ b ?
© 20 PR - - 340 118.0 n
© ° - =‘:/ - !
" = |:| B i Y QZ_J_ © o i
o ‘o R / 340 50 f o o 70
2 OFF M5 HOL 10 &
v _ 132 5} )
! 118.0
_>| - -— 4 OFF M6 HOLES/
TITLE. MATERIAL /FINISH. SCALE | UNLESS OTHERWISE  TOLERANCES:— O DECIMAL PLACES +0.5
K/T CO/\/ TE/\/ 7_5 UBK07—M ______________________ N/A STATED: — 1 DECIMAL PLACE 0.2
2 DECIMAL PLACES +0.1
DIMENSIONS ARE IN M.M. ANGULAR +1°
1 | BRM5| 9461 ML CHANGES FIR N T0 METRC (v 1 pRAWN| C.WHITMORE |08-01-14 THS DRAWNG IS THE PROPLRTY OF SHEET |DRAWING REV.
NEWALL W 023818601
REVISS.[DATE|C.N.No| ALTERATION APPROVED Leicester England WITHOUT WRITTEN PERMISSION 20F3 .




DRAWING
NUMBER

025-81860|ss

NEWALL Kit Con

DO NOT SCALE

@ - = THRD ANGLE PROJECTION

I IN DOUBT ASK

tents

Universal Bracket Kit 1 - Metric
Part No: UBKO1-M

PHEROSYN
ENCODER

ED—2768/4

ED—-2768/10
OR 294-98300

ED—2768/2\ —

L.
i

l&o

Tapped Holes May Need

to be Enlarged for Clearance
ﬂ / ED-2762/3

L] | {

o)

‘I I

TITLE.

KIT CONTENTS UBKOT—M

MATERIAL /FINISH.

_________ N/A STATED: -

DIMENSIONS ARE IN M.M.

SCALE UNLESS OTHERWISE TOLERANCES: — 0 DECIMAL PLACES %0.5

1 DECIMAL PLACE 0.2
2 DECIMAL PLACES 0.1

ANGULAR

+1°

1| 5/0f5 | 9461 | MSC CHANGES FOR INCH TO METREC

REVISS.|DATE|C.N.No.| ALTERATION

DRAWN C.WHITMORE 08-01-14 NEWALL

APPROVED

Leicester

THS DRAWNG IS THE PROPERTY OF

SHEET [DRAWING REV.
NEWALL MEASUREMENT SYSTEMS LIMTED, _
England| M NFORMATON THEREOL A O 6 CPED OR USED < of 3| NUMBER O 2 3 8 w 8 6 O ISS.

|




